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Exercice 1

On considère le choc élastique unidimensionnel de deux particules non-relativistes de
masse m et 2m, considérées comme ponctuelles. Avant le choc des deux particules, la masse
m de gauche en mouvement rectiligne uniforme vers la droite a une vitesse 2v, alors que la
masse 2m de droite (en mouvement rectiligne uniforme également vers la droite) a une vitesse
v. On appelle v1 et v2 les vitesses des particules de gauche et droite après le choc, avec v1 et v2

comptées positives vers la droite (voir figure ci-dessous). Dans la suite, on néglige l’attraction
gravitationnelle entre les deux masses et on suppose que la collision a lieu dans le vide.

avant collision après collision
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Question : Calculez les vitesses v1 et v2 des deux particules après le choc.

Exercice 2
On considère le système de la Fig. 1 : un pendule, constitué d’une
tige rigide de longueur l dont on néglige la masse, et d’une masse
ponctuelle m, est accroché à un support de masse M libre de glis-
ser sans frottement sur un rail horizontal.

(a) Écrire le lagrangien L(x, θ, ẋ, θ̇) du système en fonction des
coordonnées généralisées x et θ.

(b) Déterminez les équations du mouvement.

(c) Résoudre les équations du mouvement pour des conditions
initiales quelconques dans la limite des petits angles (θ � 1).
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6.14. Pendulum with a free support
Let x be the coordinate of M , and let θ be the angle of the pendulum (see Fig. 6.47).
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Fig. 6.47

Then the position of the mass m in Cartesian coordinates is (x + ℓ sin θ ,−ℓ cos θ).
Taking the derivative to find the velocity, and then squaring to find the speed, gives
v2

m = ẋ2 + ℓ2θ̇2 + 2ℓẋθ̇ cos θ . The Lagrangian is therefore

L = 1
2

Mẋ2 + 1
2

m(ẋ2 + ℓ2θ̇2 + 2ℓẋθ̇ cos θ) + mgℓ cos θ . (6.168)

The equations of motion obtained from varying x and θ are

(M + m)ẍ + mℓθ̈ cos θ − mℓθ̇2 sin θ = 0,

ℓθ̈ + ẍ cos θ + g sin θ = 0.
(6.169)

If θ is small, we can use the small-angle approximations, cos θ ≈ 1 − θ2/2 and
sin θ ≈ θ . Keeping only the terms that are first-order in θ , we obtain

(M + m)ẍ + mℓθ̈ = 0,

ẍ + ℓθ̈ + gθ = 0.
(6.170)

The first equation expresses momentum conservation. Integrating it twice gives

x = −
(

mℓ
M + m

)
θ + At + B. (6.171)

The second equation is F = ma in the tangential direction. Eliminating ẍ from
Eq. (6.170) gives

θ̈ +
(

M + m
M

)
g
ℓ
θ = 0. (6.172)

Therefore, θ(t) = C cos(ωt + φ), where

ω =
√

1 + m
M

√
g
ℓ

. (6.173)

The general solutions for θ and x are therefore

θ(t) = C cos(ωt + φ), x(t) = − Cmℓ
M + m

cos(ωt + φ) + At + B. (6.174)

The constant B is irrelevant, so we’ll ignore it. The two normal modes are:

• A = 0: In this case, x = −θmℓ/(M +m). Both masses oscillate with the frequency
ω given in Eq. (6.173), always moving in opposite directions. The center of mass
does not move (as you can verify).

• C = 0: In this case, θ = 0 and x = At. The pendulum hangs vertically, with both
masses moving horizontally at the same speed. The frequency of oscillations is
zero in this mode.

Remarks: If M ≫ m, then ω = √g/ℓ, as expected, because the support essentially
stays still.

If m ≫ M , then ω → √m/M
√

g/ℓ → ∞. This makes sense, because the ten-
sion in the rod is very large. We can actually be quantitative about this limit. For
small oscillations and for m ≫ M , the tension of mg in the rod produces a side-
ways force of mgθ on M . So the horizontal F = Ma equation for M is mgθ = Mẍ.
But x ≈ −ℓθ in this limit, so we have mgθ = −Mℓθ̈ , which gives the desired
frequency. ♣
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Exercice 3

Un rectangle uniforme de masse m, de hauteur 2a et de largeur 2b
se trouve au repos au sommet d’un cylindre fixe de rayon R (voir
Fig. 2). On donne alors une pichenette infinitésimale au rectangle,
afin que celui-ci « roule » sur le cylindre. La friction entre le rec-
tangle et le cylindre est telle que le rectangle ne glisse pas sur le
cylindre.
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What L was, he just couldn’t tell.

And p? He was clueless as well.

But despite his distress,

He wrote down the right guess

For their quotient: the lever arm’s ℓ.

Impulse is also useful for “collisions” that occur over extended times. See, for
example, Problem 8.24.

8.7 Problems

Section 8.1: Pancake object in x-y plane

8.1. Massive pulley *
Consider the Atwood’s machine shown in Fig. 8.21. The masses are m

m

m

2m

Fig. 8.21

and 2m, and the pulley is a uniform disk of mass m and radius r. The
string is massless and does not slip with respect to the pulley. Find the
acceleration of the masses. Use conservation of energy.

8.2. Leaving the sphere **
A ball with moment of inertia βmr2 rests on top of a fixed sphere.
There is friction between the ball and the sphere. The ball is given an
infinitesimal kick, and it rolls down without slipping. Assuming that
r is much smaller than the radius of the sphere, at what point does
the ball lose contact with the sphere? How does your answer change
if the size of the ball is comparable to, or larger than, the size of the
sphere? You may want to solve Problem 5.3 first, if you haven’t already
done so.

l

Fig. 8.22

8.3. Sliding ladder ***
A ladder of length ℓ and uniform mass density stands on a frictionless
floor and leans against a frictionless wall. It is initially held motionless,
with its bottom end an infinitesimal distance from the wall. It is then
released, whereupon the bottom end slides away from the wall, and the
top end slides down the wall (see Fig. 8.22). When it loses contact with
the wall, what is the horizontal component of the velocity of the center
of mass?

8.4. Leaning rectangle ***
A rectangle of height 2a and width 2b rests on top of a fixed cylinder of
radius R (see Fig. 8.23). The moment of inertia of the rectangle around

b b
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R

Fig. 8.23

its center is I . The rectangle is given an infinitesimal kick and then
“rolls” on the cylinder without slipping. Find the equation of motion for
the tilt angle of the rectangle. Under what conditions will the rectangle Figure 2

(a) Soit I le moment d’inertie du rectangle par rapport à l’axe de rotation perpendiculaire
au rectangle et passant par son centre de masse. Calculez I et exprimez votre résultat en
fonction de m, a, et b.

(b) Déterminez la position du centre de masse du rectangle en fonction des paramètres du
problème et de l’angle θ que fait le point de contact cylindre–rectangle et la verticale par
rapport au centre du cylindre.

(c) En déduire le lagrangien du système.

(d) Déterminez l’équation du mouvement du rectangle.

(e) À quelle condition le rectangle va-t’il effectuer des oscillations autour d’une position
d’équilibre ? Déterminez dans ce cas la fréquence des petites oscillations autour du point
d’équilibre. À quelle condition le rectangle va-t’il tomber du cylindre ?
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